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PRACTICE PAPER (2021-22) 

CLASS : XII 
SUBJECT: ACCOUNTANCY (055) 

Time Allowed : 90 Min. Maximum Marks : 40 
le; % 90 feuV vf/dre vad & 40 
lkekU; funsZ'k& 

fuEufyf[kr funsZ'kksa dks cgqr è;ku ls i<+sa vkSj mudk l[rh ls ikyu djsa% 

1- bl iz'ui=k esa nks Hkkx I vkSj II 'kkfey gSaA iz'u&i=k esa 55 iz'u gSaA 
2- izR;sd vuqHkkx esa ,d vkarfjd fodYi iznku fd;k x;k gSA 

 i. Hkkx&I esa rhu [kaM gSa & d] [k vkSj xA [kaM&d esa 1 ls 18 rd osQ iz'u gSa 

vkSj [kaM&[k esa 19 ls 36 rd osQ iz'u gSa] vkidks nksuksa [kaMksa esa ls izR;sd esa 

dksbZ Hkh 15 iz'u djus gSaA 

 ii. Hkkx&I] [kaM&x esa 37 ls 41 rd osQ iz'u gSaA vkidks fdUgha pkj iz'uksa dks 

djuk gSA 

 iii. Hkkx&II esa nks [kaM gSa & d vkSj [kA [kaM&d esa 42 ls 48 rd osQ iz'u gSa] 

vkidks dksbZ Hkh ik¡p iz'uksa dks djuk gS vkSj [kaM&[k esa 49 ls 55 rd osQ iz'u 

gSa] vkidks dksbZ Hkh Ng iz'uksa dks djuk gSA 

3- lHkh iz'uksa osQ vad leku gSaA dksbZ udkjkRed vadu ugha gSA 

4- iz'uksa osQ igys izR;sd Hkkx vkSj mi[kaM ([kaM) ls lacaf/r fof'k"V funsZ'k Li"V :i ls 

mfYyf[kr gSaA mEehnokjksa dks mUgsa vPNh rjg ls i<+uk pkfg, vkSj mlh osQ vuqlkj 

iz;kl djuk pkfg,A 
General Instructions- 

Read the following instructions very carefully and strictly follow them: 
1.  This question paper comprises two PARTS-I and II. There are 55 questions in the 

question paper.  
2.  There is an internal choice provided in each Sections.  
 i.  Part-I, contains three Sections -A, B and C. Section A has questions from 1 

to 18 and Section B has questions from 19 to 36, you have to attempt any 
15 questions each in both the sections.  

 ii. Part I, Section C has questions from 37 to 41. You have to attempt any four 
questions.  
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 iii. Part II, contains two Sections A and B. Section A has questions from 42 to 
48, you have to attempt any five questions and Section B has questions 
from 49 to 55, you have to attempt any six questions. 

3.  All questions carry equal marks. There is no negative marking. 
4. Specific instructions related to each part and subdivisions (Section) is mentioned 

clearly before the questions. Candidates should read them thoroughly and attempt 
accordingly. 

************** 
Hkkx&I 

Hkkx&d 
Part-I 

Section-A 
funsZ'k% 

iz'u 1 ls 18 esa ls fdUgha 15 iz'uksa dk mÙkj nsaA 

Instructions:  
From question number 1 to 18, attempt any 15 questions.  

1- ykHk caVokjs osQ vuqikr esa ifjorZu osQ le;] R;kx vuqikr fu/kZfjr fd;k tkrk gS 

rkfd ------------ lk>snkj (lk>snkjksa) ------------ lk>snkj (lk>snkjksa) dh {kfriwfrZ dj 

losaQA 

 (a) (i) iqjkus (ii) u,A 

 (b) (i) u, (ii) iqjkusA 

 (c) (i) ykHk izkIr djus okys (ii) R;kx djus okysA 

 (d) (i) u, (ii) R;kx djus okysA 

 Sacrificing ratio is determined so that __________ partner(s) can 
compensate the __________ partner(s) at the time of change in profit 
sharing ratio.  

 (a)  (i)  Old  (ii)  New.  
 (b)  (i)  New  (ii)  Old.  
 (c)  (i)  Gaining  (ii)  Sacrificing.  
 (d) (i)  New  (ii)  Sacrificing.  
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2- -------------- va'k iwath dk fgLlk gS vkSj ;g iwath dh vf/dre jkf'k gS tks ,d 

oaQiuh tkjh dj ldrh gSA 

 (a) vkjf{kr iwath (b) vfHknÙk iwath 

 (c) fuxZfer iwath (d) vf/Ñr iwath 

 ______________ is the part of Share Capital and it is the maximum amount 
of capital that a company can issue.  

 (a)  Reserve Capital  (b)  Subscribed Capital  
 (c)  Issued Capital (d)  Authorised Capital 
3- lk>snkjh osQ laca/ esa fuEufyf[kr esa ls dkSu&lk@ls lR; gS@gSa% 

 (i) lk>snkjksa osQ chp fyf[kr le>kSrs dks lk>snkjh lays[k osQ :i esa tkuk tkrk 

gSA 

 (ii) oaQiuh (fofo/) fu;e]2014 osQ fu;e 10 osQ rgr osaQnz ljdkj }kjk ,d 

lk>snkjh iQeZ esa lk>snkjksa dh vf/dre la[;k 100 fu/kZfjr dh xbZ gSA 

 (iii) lk>snkjh lays[k osQ vHkko esa vkgj.k ij 6» dh nj ls C;kt fy;k tkrk 

gSA 

 fodYi% 

 (a) osQoy (ii) (b) (i) vkSj (iii) 

 (c) osQoy (i) (d) (ii) vkSj (iii) 

 Which of the following is /are true with regards to Partnership:  
 (i)  The written agreement among the partners is known as Partnership 

Deed.  
 (ii)  The Central Govt. has prescribed maximum number of partners in a 

partnership firm to be 100 vide Rule 10 of Companies (Misc.) Rules, 
2014.  

 (iii)  Interest on Drawings is charged @ 6% in case of absence of 
Partnership Deed.  

 Options: 
 (a) Only (ii)  (b) (i) and (iii) 
 (c) Only (i)   (d) (ii) and (iii) 
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4- lk>snkj osQ izos'k osQ le;] fuEufyf[kr lwpukvksa dk D;k izHkko gksxk\ 

 deZpkjh {kfriwfrZ lap; esa 'ks"k jkf'k ` 55]000- 

 deZpkjh {kfriwfrZ osQ fy, nkok ` 40]000- 

 (a) ` 15]000 lk>snkjksa osQ iwath [kkrksa esa tek fd, x,A 

 (b) ` 15]000 iquewZY;kadu [kkrs esa MsfcV fd;k x;kA 

 (c) ` 40]000 iquewZY;kadu [kkrs esa MsfcV fd;k x;kA 

 (d) ` 15]000 iquewZY;kadu [kkrs esa tek fd;k x;kA 

 At the time of admission of a partner, what will be the effect of the 
following information?  

 Balance in Workmen compensation reserve ` 55,000.  
 Claim for workmen compensation ` 40,000.  
 (a)  ` 15,000 Credited to the Partners capital Accounts.  
 (b) ` 15,000 Debited to Revaluation Account.  
 (c) ` 40,000 Debited to Revaluation Account.  
 (d) ` 15,000 Credited to Revaluation Account.  

5- nwljh vkSj vafre ekax jkf'k dh x.kuk djsa tc vkHkkj fyfeVsM ` 100 izR;sd osQ 

lerk va'k 25» izhfe;e ij fuxZfer djrk gS tks fd ns; gS] vkosnu ` 50] 

vkoaVu ` 30] igyh ekax ` 10 gSA 

 (a) nwljh vkSj vafre ekax ` 10 (b) nwljk vkSj vafre ekax ` 25 

 (c) nwljk vkSj vafre ekax ` 35 (d) nwljk vkSj vafre ekax ` 45 

 Calculate the amount of second & final call when Aabhar Ltd, issues Equity 
shares of ` 100 each at a premium of 25% payable on Application ` 50, On 
Allotment ` 30, On First Call ` 10.  

 (a)  Second & final call ` 10.  
 (b)  Second & final call ` 25.  
 (c)  Second & final call ` 35.  
 (d)  Second & final call ` 45.  
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6- iou vkSj fodkl ,d iQeZ esa lk>snkj gSa vkSj 4%3 osQ vuqikr esa ykHk&gkfu 

ck¡Vrs gSaA 

rqyu i=k (m¼j.k) 

nsunkfj;k¡ ` ifjlEifÙk;k¡ ` 

  LVkWd 2]00]000 

 ;fn rqyu i=k esa ifjyf{kr iQuhZpj osQ ewY; dk 20» de ewY;kadu fd;k x;k gS 

ubZ rqyu i=k esa fn[kk, tkus okys LVkWd dk ewY; Kkr dhft,% 

 (a) ` 1]60]000 (b) ` 2]00]000 

 (c) ` 2]40]000 (d) ` 3]00]000 

 Pawan and Vikas are partners in a firm sharing profits and losses in the ratio 
of 4:3.  

Balance Sheet (Extract) 
Liabilities ` Assets ` 

  Stock 2,00,000 

 If the value of Stock reflected in the balance sheet is overvalued by 25%, 
find out the value of Stock to be shown in the new Balance Sheet:  

 (a)  1,60,000.  (b)  2,00,000.  
 (c)  2,40,000.  (d)  3,00,000.  
7- lh,uch fyfeVsM us 20]000 va'kksa osQ fy, vkosnu vkeaf=kr djrs gq, ,d 

izfooj.k i=k tkjh fd;kA 30]000 va'kksa osQ fy, vkosnu izkIr gq, vksj 25]000 

va'kksa osQ vkosndksa dks vkuqikfrd vkoaVu fd;k x;kA ;fn lhek us 500 'ks;jksa osQ 

fy, vkosnu fd;k gS] rks mls fdrus va'k vkoafVr fd, x, gSa\ 

 (a) 800 (b) 600 
 (c) 400 (d) 200 
 CNB Ltd, issued a prospectus inviting applications for 20,000 shares. 

Applications were received for 30,000 shares and pro-rata allotment was 
made to the applicants of 25,000 shares. If Seema has been applied for 500 
shares, how much shares she have been allotted?  

 (a) 800 (b) 600 
 (c) 400 (d) 200 
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8- lk>snkjh iQeZ esa lk>snkj osQ izos'k osQ le;] ,d vfyf[kr nkf;Ro osQ vfHkys[ku 

osQ dkj.k gksxk% 

 (a) ekStwnk lk>snkjksa dks u rks ykHk vkSj u gh gkfuA 

 (b) ekStwnk lk>snkjksa dks muosQ iqjkus ykHk caVokjs osQ vuqikr esa uqdlkuA 

 (c) ekStwnk lk>snkjksa dks muosQ R;kx vuqikr esa uqdlkuA 

 (d) vkus okys lk>snkjksa dks ykHkA 
 At the time of admission of a partner in the Partnership Firm, recording of an 

unrecorded Liability will lead to:  
 (a)  Neither gain nor loss to the existing partners  
 (b)  Loss to the existing partners in their old profit sharing ratio.  
 (c)  Loss to the existing Partners in their sacrificing ratio.  
 (d)  Gain to the incoming partner.  
9- R, S vkSj G lk>snkj gSa tks 4%2%1 osQ vuqikr esa ykHk ck¡Vrs gSaA lk>snkjh le>kSrs 

osQ vuqlkj] G dks izR;sd o"kZ vius ykHk osQ fgLls osQ :i esa U;wure ` 70]000 

dh jkf'k izkIr djuh gS vkSj bl [kkrs esa fdlh Hkh deh dks O;fDrxr :i ls R 
}kjk ogu fd;k tkuk gSA 31 ekpZ 2021 dks lekIr o"kZ osQ fy, 'kq¼ ykHk dh 

jkf'k 4]20]000 FkhA R }kjk ogu dh tkus okyh deh dh ek=kk dh x.kuk djsa\ 

 (a) 40]000 (b) 30]000 

 (c) 20]000 (d) 10]000 
 R, S and G are partners sharing profits in the ratio of 4:2:1. According to the 

partnership agreement, G is to get a minimum amount of ` 70,000 as his 
share of profits every year and any deficiency on this account is to be 
personally borne by R. The net profit for the year ended 31st March 2021 
amounted to 4,20,000. Calculate the amount of deficiency to be borne by R?  

 (a)  40,000.  (b)  30,000.  
 (c)  20,000.  (d)  10,000.  
10- usoy fyfeVsM us ` 10 izR;sd osQ 20]000 lerk va'kksa dh is'kd'k dh] buesa ls 

19]000 va'kksa osQ fy, vkosnu izkIr gq,A vkosnu ij ` 3] vkcaVu ` 4] igyh 

ekax ij ` 2 vkSj nwljh ,oa vfUre ekax ij 'ks"k jkf'k osQ :i esa ns; FkhA ;fn 

1]000 j[kus okyk ,d va'k/kjd nwljh ,oa vfUre ekax ij pwd djrk gS] rks 

nwljh ,oa vfUre ekax ij izkIr jkf'k fdruh gS\ 
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 (a) ` 19]000 (b) ` 18]500 

 (c) ` 18000 (d) ` 20]000 
 Naval Ltd offered 20,000 Equity Shares of 10 each, of these 19,000 shares 

were subscribed. The amount was payable as ` 3 on application, ` 4 an 
allotment, ` 2 on First Call and balance on Second and Final call. If a 
shareholder holding 1,000 shares has defaulted on Second and Final call, 
what is the amount of money received on Second and Final call? 

 (a) ` 19]000 (b) ` 18]500 

 (c) ` 18000 (d) ` 20]000 

11- oaQiuh vf/fu;e 2013 osQ vuqlkj] ,d oaQiuh }kjk m|e bfDoVh (LosV bfDoVh) 

va'k mlosQ ---------------- dks xSj&udn izfriQy osQ fy, ;k fdlh Hkh :i esa 

tkudkjh ;k dksbZ ewY; o/Zu iznku djus osQ fy,] NwV ij tkjh fd, tkrs gSa% 

 (a) xzkgd (b) ysunkjksa 

 (c) ljdkj (d) deZpkjh 
 As per the Companies Act 2013, Sweat equity shares are issued by a 

company, to its __________ for non cash consideration or at a discount for 
providing know how’s or any value additions in any form:  

 (a)  Customers  (b)  Creditors 
 (c)  Govt.  (d)  Employees 
12- fuEufyf[kr esa ls fdl mís'; osQ fy,] ,echch fyfeVsM oaQiuh vius izfrHkwfr 

izhfe;e vkjf{kr dk mi;ksx dj ldrh gS% 

 (a) oaQiuh osQ izkjafHkd [kpks± dks vifyf[kr djukA 

 (b) vkaf'kd :i ls Hkqxrku fd, x, cksul 'ks;j tkjh djukA 

 (c) o"kZ osQ nkSjku gq, uqdlku dks vifyf[kr djukA 

 (d) vU; oaQifu;ksa osQ 'ks;jksa dh [kjhn esaA 
 For which of the following purpose, MBB Ltd. company can utilise its 

Securities Premium Reserve:  
 (a)  Writing off preliminary expenses of the company.  
 (b)  Issue of partly paid bonus shares.  
 (c)  Writing off Losses incurred during the year.  
 (d)  In purchasing of shares of other companies.  
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13- iQeZ }kjk vftZr vkSlr ykHk ` 2]40]000 gSA O;olk; esa fuos'k dh xbZ iwath ` 

21]00]000 gS vkSj izfriQy dh lkekU; nj 10» gSA pkj xquk vf/ykHk osQ vk/kj 

ij] iQeZ dh [;kfr dk ewY; D;k gS\ 

 (a) ` 90]000 (b) ` 1]20]000 

 (c) ` 1]50]000 (d) ` 1]80]000 

 Average profit earned by the firm is ` 2,40,000. Capital invested in the 
business is ` 21,00,000 and normal rate of return is 10%. What is the value 
of Goodwill of the firm on the basis of four times the super profit:  

 (a)  ` 90,000.  (b)  ` 1,20,000. .  
 (c)  ` 1,50,000.  (d)  ` 1,80,000.  

14- fuEufyf[kr esas ls dkSu lk O;fDr fdlh Hkh fLFkfr esa lk>snkjh iQeZ esa Hkkxhnkj 

ugha cu ldrk gS\ 

 (i) ukckfyx 

 (ii) foÑr fnekx osQ O;fDr 

 (iii) fdlh Hkh dkuwu }kjk v;ksX; O;fDr 

 fodYi % 

 (a) osQoy (i) (b) (i) vkSj (ii) 

 (c) (ii) vkSj (iii) (d) (i) vkSj (iii) 

 Which of the following persons cannot become a partner in partnership firm 
in any condition?  

 (i)  Minor  
 (ii)  Persons of unsound mind  
 (iii)  Persons disqualified by any law 
 Options:  
 (a)  Only (i).  (b)  (i) and (ii).  
 (c)  (ii) and (iii).  (d)  (i) and (iii).  
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15- 31 ekpZ] 2020 dks fuos'k mrkj&p<+ko lap; ` 18]000 gS vkSj fuos'k (ykxr 

ij) ` 2]00]000 gSA u, lk>snkj osQ izos'k osQ le;] iquewZY;kadu ij D;k izHkko 

iM+sxk] ;fn fuos'k dk cktkj ewY; ` 2]18]000 fn;k x;k gS% 

 (a) iquewZY;kadu [kkrs esa ` 18]000 #i;s ozsQfMV fd, tk,axsA 

 (b) iquewZY;kadu [kkrs esa ` 18]000 #i;s MsfcV fd, tk,axsA 

 (c) iquewZY;kadu [kkrs esa ` 20]000 #i;s ozsQfMV fd, tk,axsA 

 (d) iquewZY;kadu [kkrs esa ` 20]000 #i;s MsfcV fd;k tk,xkA 

 Investment Fluctuation Reserve is ` 18,000 and Investment (at Cost) is ` 
2,00,000 as on 31st March,2020. At the time of admission of a new partner, 
what will be the effect on Revaluation, if market value of investment is 
given at ` 2,18,000:  

 (a)  Revaluation A/c will be credited with ` 18,000.  
 (b)  Revaluation A/c will be debited with ` 18,000.  
 (c)  Revaluation A/c will be credited with ` 20,000.  
 (d)  Revaluation A/c will be debited with ` 20,000.  

16- uhjo] lkfgr vkSj xkSre 3%3%2 osQ vuqikr esa lk>snkj gSaA ;fn o"kZ osQ var esa uhjo 

osQ ykHk dk fgLlk ` 3]00]000 gks tkrk gS] rks xkSre osQ ykHk dk fgLlk D;k 

gksxk\ 
 (a) ` 8]00]000 (b) ` 3]50]000 

 (c) ` 2]00]000 (d) ` 1]00]000 

 Nirav, Sahil and Gautam are partners in the ratio of 3:3:2. If Nirav’s share of 
profit at the end of the year amounted to 3,00,000, what will be Gautam’s 
share of profits? -  

 (a)  ` 8,00,000.  (b)  ` 3,00,000.  
 (c)  ` 2,00,000.  (d) ` 1,00,000.  

17- A vkSj B lk>snkj Fks tks ykHk vkSj gkfu dks 4%3 osQ vuqikr esa ck¡Vrs FksA 1 

vizSy] 2021 dks mUgksaus C dks ,d u, lk>snkj osQ :i esa Lohdkj fd;k vkSj u;k 

vuqikr 3%3%1 osQ :i esa r; fd;k x;kA iQeZ dh [;kfr dk ewY;kadu ` 
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7]00]000 fd;k x;kA C [;kfr izhfe;e osQ vius vko';d fgLls dks udn esa 

yk;kA [;kfr esa C dk fgLlk A vkSj B osQ iwath [kkrs esa tek fd;k tk,xk % 

 (a) ` 1]00]000 vkSj 'kwU; ozQe'k% 

 (b) ` 50]000 vkSj ` 50]000 ozQe'k% 

 (c) ` 4]00]000 vkSj ` 3]00]000 ozQe'k% 

 (d) ` 'kwU; vkSj ` 1]00]000 ozQe'k% 

 A and B were partners sharing profits and losses in the ratio of 4:3. On 1st 
April, 2021 they admitted C as a new partner and new ratio was decided as 
3:3:1. Goodwill of the firm was valued as ` 7,00,000. C brought his required 
share of goodwill premium in cash. Cs share of goodwill credited to A and B 
Capital Accounts by:  

 (a)  ` 1,00,000 and Nil respectively  
 (b)  ` 50,000 and ` 50,000 respectively  
 (c)  ` 4,00,000 and ` 3,00,000 respectively  
 (d)  ` Nil and ` 1,00,000 respectively  

18- ozQ; izfriQy D;k gksxk ;fn 

 fofo/ laifÙk;ka ¾ ` 1]20]000] fofo/ ysunku ¾ ` 30]000] [;kfr ¾ ` 20]000 

 (a) ` 90]000 (b) ` 1]00]000 

 (c) ` 1]10]000 (d) ` 1]20]000 

 What will be the Purchased Consideration if  
 Sundry Assets = ` 1,20,000, Sundry Creditors = ` 30,000 Goodwill = ` 

20,000  
 (a)  ` 90,000.  (b)  ` 1,00,000.  
 (c)  ` 1,10,000.  (d)  ` 1,20,000  
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Hkkx&I 

[kaM&[k 

Part-I 
Section-B 

funsZ'k% 

iz'u 19 ls 36 esa ls fdUgha 15 iz'uksa dk mÙkj nsaA 

Instructions:  
From question number 19 to 36, attempt any 15 questions.  

19- uhps nks dFku fn, x, gSa] ,d dks vfHkdFku (A) vkSj nwljs dks dkj.k (R) osQ 
:i esaa yscy fd;k x;k gSA 

 vfHkdFku (A) % lk>snkjksa }kjk ½.k ij C;kt ykHk vkSj gkfu [kkrs esa fn[kk x;k 

gSA 

 dkj.k (R) % lk>snkjksa }kjk ½.k ij C;kt rHkh fn;k tkrk gS tc lk>snkjh iQeZ 

ykHk dekrh gSA 

 mijksDr dFku osQ lanHkZ esa] fuEufyf[kr esa ls dkSu&lk lgh gS\ 

 fodYi% 

 (a) (A) lgh gS] ysfdu (R) xyr gSA 

 (b) nksuksa (A) vkSj (R) lgh gSA 

 (c) (A) xyr gS] ysfdu (R) lgh gSA 

 (d) nksuksa (A) vkSj (R) xyr gSA 
 Given below are two statements, one labelled as Assertion (A) and the other 

labelled as Reason (R) 
 Assertion (A) : Interest on Loan by Partner is shown in Profit & Loss A/c.  
 Reason (R) : Interest on Loan by Partner is given only when Partnership 

Firm earns the profits.  
 In the context of the above statements, which one of the following is 

correct? 
 Options:  
 (a) (A) is correct, but (R) is wrong.  
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 (b) Both (A) and (R) are correct.  
 (c) (A) is wrong, but (R) is correct.  
 (d) Both (A) and (R) are wrong.  
20- uS'kk vkSj vk;'kk ,d iQeZ esa lk>snkj FksA mudh rqyu i=k us LVkWd ` 1]20]000] 

iQuhZpj ` 80]000 vkSj fofo/ ysunkj ` 40]000 ij fn[kk;k x;kA gf"kZrk dks u, 

lk>snkj osQ :i esa izos'k fn;k xk;A LVkWd dk ` 1]30]000 ij vkSj iQuhZpj dk ` 

70]000 ij iquewZY;kadu fd;k x;k vkSj ` 20]000 osQ ysunkjksa osQ nkok fd, tkus 

dh laHkkouk ugha gSA iquewZY;kadu ij ykHk esa vk;'kk dk fgLlk gksxk% 

 (a) ` 20]000 (b) ` 15]000 

 (c) ` 10]000 (d) ` 5]000 

 Naisha and Aisha were partners in a firm. Their Balance Sheet showed Stock 
at ` 1,20,000; Furniture at ` 80,000 and Sundry Creditors at ` 40,000. 
Harshita was admitted as a new partner. Stock was revalued at ` 1,30,000, 
Furniture ` 70,000 and Creditors of ` 20,000 are not likely to be claimed. 
Share of Aisha in profit on revaluation will be:  

 (a)  ` 20,000  (b)  ` 15,000  
 (c)  ` 10,000  (d) ` 10,000 
21- Hkwfe vkSj fiz;k 4%1 osQ vuqikr esa ykHk vkSj gkfu lk>nskj ckaVus okys lk>snkj FksA 

jf'e dks ykHk esa 1@5 Hkkx osQ fy, izos'k fd;k x;k] ysfdu og vius fgLls osQ 

[;kfr osQ va'k dks udn eas ykus esa vleFkZ FkkA [;kfr va'k osQ fy, ntZ dh xbZ] 

jkstukepk izfof"V uhps nh xbZ gS% 

fnukad fooj.k ,y-

,iQ- 

Dr. (`) Cr. (`) 

 jf'e dk pkyw [kkrk ----uke 

 Hkwfe osQ iwath [kkrk ls 

 fiz;k osQ iwath [kkrk ls 

(jf'e osQ izos'k ij [;kfr izhfe;e dk 

lek;kstu) 

 30]000  

24]000 

6]000 
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 Hkwfe] fiz;k vkSj jf'e dk u;k ykHk&caVokjk vuqikr gksxk 

 (a) 3%1%1 (b) 16%4%5 

 (c) 16%4%1 (d) 8%2%1 

  Bhumi and Priya were partners sharing profits and losses in the ratio 
of 4:1. Rashmi was admitted for 1/5th share in the profit but was unable to 
bring his share of goodwill premium in cash. The Journal entry recorded for 
goodwill premium is given below:  
Date Particular L.F. Dr. (`) Cr. (`) 
 Rashmi’s Current A/c          ... Dr 

 To Bhumi’s Capital A/c 
 To Priya’s Capital A/c 
(Adjustment of goodwill premium on 
Rashmi’s Admission) 

 30,000  
24,000 

6,000 

 The new profit-sharing ratio of Bhumi, Priya and Rashmi will be 
 (a)  3:1:1  (b)  16:4:5  
 (c)  16:4:1  (d)  8:2:1  

22- jkosQ'k vkSj lfpu lk>snkj gSa vkSj 4%1 osQ vuqikr esa ykHk ck¡Vrs gSaA fodkl dks 

1@4 fgLls osQ fy, izos'k djk;k x;k Fkk] ftldk 3@4 jkosQ'k us migkj esa fn;k 

FkkA 'ks"k dk ;ksxnku lfpu us fd;kA iQeZ dh [;kfr dk ewY; ` 40]000 gSA lfpu 

osQ iwath [kkrs esa [;kfr osQ fy, fdruh jkf'k tek dh tk,xh\ 

 (a) ` 2]500 (b) ` 7]500 

 (c) ` 10]000 (d) ` 30]000 

 Rakesh and Sachin are partners sharing profits in the ratio of 4:1. Vikas was 
admitted for 1/4 share of which 3/4 was gifted by Rakesh. The remaining 
was contributed by Sachin. Goodwill of the firm is valued at ` 40,000. How 
much amount for goodwill will be credited to Sachins Capital account?  

 (a)  `  2,500.  (b)  ` 7,500.  
 (c)  ` 10,000.  (d)  ` 30,000.  
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23- eksfgr] vHk; vkSj fodkl ,d iQeZ esa lk>snkj gSa tks 3%3%1 osQ vuqikr esa 

ykHk&gkfu ck¡Vrs gSaA 1 vizSy 2021 dks] mUgksaus vius ykHk&caVokjk vuqikr dks 

2%2%3 esa cnyus dk fu.kZ; fy;kA ml rkjh[k dks] ykHk vkSj gkfu [kkrs dk MsfcV 

'ks"k ` 70]000 rqyu i=k esa fn[kkb fn;k vkSj lk>snkjksa us blosQ fy, ,d lek;kstu 

izfof"V ikfjr djus dk fu.kZ; fy;kA 

 fuEufyf[kr esa ls dkSu lk fodYi mijksDr osQ fy, lgh mipkj n'kkZrk gS\ 

fnukad fooj.k ,y-

,iQ- 

Dr. (`) Cr. (`) 

(a) fodkl dk iwath [kkrk    --- uke 

 eksfgr osQ iwath [kkrk ls 

 vHk; osQ iwath [kkrk ls 

(lek;kstu izfof"V mÙkh.kZ gksus osQ dkj.k) 

 20]000  

10]000 

10]000 

(b) fodkl dk iwath [kkrk    --- uke 

 eksfgr osQ iwath [kkrk ls 

 vHk; osQ iwath [kkrk ls 

(lek;kstu izfof"V mÙkh.kZ gksus osQ dkj.k) 

 20]000  

15]000 

5]000 

(c) eksfgr dk iwath [kkrk    --- uke 

vHk; dk iwath [kkrk    --- uke 

 fodkl osQ iwath [kkrk ls 

(lek;kstu izfof"V mÙkh.kZ gksus osQ dkj.k) 

 15]000 

5]000 

 

 

20]000 

(d) eksfgr dk iwath [kkrk    --- uke 

vHk; dk iwath [kkrk    --- uke 

 fodkl osQ iwath [kkrk ls 

(lek;kstu izfof"V mÙkh.kZ gksus osQ dkj.k) 

 10]000 

10]000 

 

 

20]000 
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 Mohit, Abhay and Vikas are partners in a firm sharing profits and losses in 
the ratio of 3:3:1. On 1st April 2021, they decided to change their profit-
sharing, ratio to 2:2:3. On that date, debit balance of Profit and Loss A/c 
` 70,000 appeared in the balance sheet and partners decided to pass an 
adjusting entry for it.  

 Which of the following option represents the correct treatment for the 
above?  
Date Particulars L.F. Dr. (`) Cr. (`) 
(a) Vikas’s Capital A/c       ...Dr 

 To Mohit’s Capital A/c 
 To Abhay’s Capital A/c 
(Being adjustment entry passed) 

 20,000  
10,000 
10,000 

(b) Vikas’s Capital A/c       ...Dr 
 To Mohit’s Capital A/c 
 To Abhay’s Capital A/c 
(Being adjustment entry passed) 

 20,000  
15,000 

5,000 

(c) Mohit’s Capital A/c       ...Dr 
Abhay’s Capital A/c       ...Dr 
 To Vikas’s Capital A/c 
(Being adjustment entry passed) 

 15,000 
5,000 

 
 

20,000 

(d) Mohit’s Capital A/c       ...Dr 
Abhay’s Capital A/c       ...Dr 
 To Vikas’s Capital A/c 
(Being adjustment entry passed) 

 10,000 
10,000 

 
 

20,000 

 

24- uhps nks dFku fn, x, gSa] ,d dks vfHkdFku (A) vkSj nwljs dks dkj.k (R) osQ 
:i esaa yscy fd;k x;k gSA 

 vfHkdFku (A) % ,d lk>snkj osQ izos'k osQ le; lafpr ykHk vkSj gkfu dks iqjkus 

lk>snkjksa osQ iwath [kkrs esa LFkkukarfjr dj fn;k tkrk gSA 
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 dkj.k (R) % ;s lafpr ykHk u, lk>snkj osQ izos'k ls igys vftZr ykHk ;k 

gkfu;k¡ gSaA 

 mijksDr nks dFkuksa osQ lanHkZ esa] fuEufyf[kr esa ls dkSu&lk lgh gS\ 

 dksM% 

 (a) nksuksa (A) vkSj (R) lgh gSa vkSj (R) (A) dk lgh dkj.k gSA 

 (b) nksuksa (A) vkSj (R) lgh gSa ysfdu (R) (A) dk lgh dkj.k ugha gSA 

 (c) osQoy (R) lgh gSA 

 (d) nksuksa (A) vkSj (R) xyr gSA 

 Given below are two statements, one labelled as Assertion (A) and the other 
labelled as Reason (R): 

 Assertion (A) : Accumulated profits and Losses are transferred to Old 
Partners’ Capital A/cs, at the time of Admission of a partner. 

 Reason (R) : These Accumulated Profits are earned or Losses incurred 
before the admission of new partner. 

 In the context of the above statements, which one of the following is 
correct?  

 Codes:  
 (a)  Both (A) and (R) are correct and (R) is the correct reason of (A).  
 (b)  Both (A) and (R) are correct but (R) is not the correct reason of (A).  
 (c)  Only (R) is correct.  
 (d)  Both (A) and (R) are wrong. 
25- VBT fyfeVsM us ` 10 izR;sd osQ 2]000 va'kksa dk (iw.kZr% ;kfpr) gj.k dj 

fy;k] ftl ij osQoy ` 3 dh vkosnu jkf'k dk Hkqxrku fd;k x;k gSA buesa ls 

500 va'kksa dks fiQj ls tkjh fd;k x;k vkSj ` 500 dks iwath vkjf{kr esa LFkkukarfjr 

dj fn;k x;kA ml nj dh x.kuk djsa ftl ij bu va'kksa dks fiQj ls tkjh fd;k 

x;k FkkA 

 (a) ` 10 izfr 'ks;j (b) ` 9 izfr 'ks;j 

 (c) ` 8 izfr 'ks;j (d) ` 7 izfr 'ks;j 
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 VBT Ltd foeited 2,000 shares of ` 10 each, fully called up, on which 
application money of ` 3 has been paid. Out of these 500 shares were 
reissued and 500 has been transferred to capital reserve. Calculate the rate at 
which these shares were reissued.  

 (a)  `  10 Per share  (b)  `  9 Per share  
 (c)  `  8 Per share  (d)  `  7 Per share  

26- vej] lat; vkSj jkts'k lk>snkj gSa] mudh lk>snkjh lays[k esa 6» izfro"kZ dh nj 

ls vkgj.k ij C;kt dk izko/ku gSA o"kZ osQ nkSjku] jkts'k us izR;sd ekg osQ var esa 

,d fuf'pr jkf'k fudkyh vkSj o"kZ osQ var esa vkgj.k ij mldk C;kt ` 6]600 

FkkA mlosQ ekfld vkgj.k dh jkf'k fdruh Fkh\ 

 (a)  ` 10,000  (b)  ` 20,000  
 (c)  ` 40,000  (d) ` 80,000 
 Amar, Sanjay and Rajesh are partners, their partnership deed provides for 

interest on drawings at 6% per annum. Rajesh withdrew a fixed amount in 
the end of every month, during the year and his interest on drawings 
amounted to ` 6,600 at the end of the year. What was the amount of his 
monthly drawings?  

 (a)  ` 10,000. (b)  ` 20,000.  
 (c) ` 40,000.  (d)  ` 80,000.  

27- esgj vkSj fiz;k lk>snkj gSa vkSj 3%1 osQ vuqikr esa ck¡Vrs gSaA 31 ekpZ 2021 dks 

iQeZ dk 'kq¼ ykHk ` 4]00]000 gSA lk>snkjh lays[k esa esgj vkSj fiz;k dks ozQe'k% 

` 40]000 vkSj ` 30]000 dk iwath ij C;kt dk izko/ku gSA esgj bl rjg osQ 

deh'ku dks pktZ djus ls igys] 'kq¼ foHkkT; ykHk ij 10» dh nj ls deh'ku 

dh Hkh gdnkj gSA esgj dks ns; deh'ku D;k gksxk\ 

 (a) ` 3]000 (b) ` 30]000 

 (c) ` 33]000 (d) ` 40]000 

 Mehar and Priya are partners sharing profit in the ratio 3:1. On 31st March 
2021, firms net profit is ` 4,00,000. The partnership deed provided interest 
on capital to Mehar and Priya ` 40,000 and ` 30,000 respectively. Mehar is 
also entitled to commission @10% on net divisible profits, before charging 
such commission. What will be the Commission payable to Mehar?  
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 (a) ` 3,000 (b)  ` 30,000  
 (c)  ` 33,000 (D) ` 40,000  
28- lq/hj dks SVB fyfeVsM }kjk vkuqikfrd vk/kj ij 400 va'kksa dks vkoafVr fd;k 

x;k Fkk] ftlus izR;sd rhu osQ fy, nks va'k tkjh fd, FksA mlus ` 4 izfr va'k 

dh vkosnu jkf'k dk Hkqxrku fd;k Fkk vkSj ` 4 izfr va'k dh vkoaVu jkf'k dk 

Hkqxrku ugha dj ldkA oaQiuh }kjk ` 2 izfr va'k dh igyh vkSj vafre ekax vHkh 

rd ugha dh xbZ FkhA muosQ va'k tCr dj fy, x,A fuEufyf[kr izfof"V ikfjr dh 

tk,xh% 

 lerk va'k iwath [kkrk    ---- uke `X 

  gj.k va'k [kkrk ls `Y 

  lerk va'k vkoaVu [kkrk ls  `Z 

 ;gk¡ X, Y vkSj Z gSa% 

 (a) ` 4]000_ ` 2]000_ ` 2]000 ozQe'k%A 

 (b) ` 3]200_ ` 2]400_ ` 800 ozQe'k%A 

 (c) ` 1]400_ ` 1]000_ ` 400 ozQe'k%A 

 (d) ` 4]000_ ` 3]200_ ` 800 ozQe'k%A 

 Sudhir had been allotted for 400 shares by SVB Ltd on pro rata basis which 
had issued two shares for every three applied. He had paid application 
money of ` 4 per share and could not pay allotment money of ` 4 per share. 
First and final call of ` 2 per share was not yet made by the company. His 
shares were forfeited. the following entry will be passed: 

 Equity Share Capital A/c    ....Dr   `X 
  To Share Forfeited A/c   `Y 
  To Equity Share Allotment A/c   `Z 
 Here X, Y and Z are:  
 (a)  ` 4,000; ` 2,000; ` 2,000 respectively.  
 (b)  ` 3,200; ` 2,400; ` 800 respectively.  
 (c)  ` 1,400; ` 1,000; ` 400 respectively.  
 (d)  ` 4,000; ` 3,200; ` 800 respectively.  
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29- lquhy] ujs'k vkSj tksfxanj 3%2%1 osQ vuqikr esa ozQe'k% ` 2]00]000] ` 2]00]000 

vkSj ` 1]00]000 dh iwath osQ lkFk ykHk vkSj gkfu lk>k djus okys lk>snkj gSaA 

lk>snkjh lays'k esa iwath ij 10» izfr o"kZ dh nj ls C;kt dk izko/ku gSA vkSj o"kZ 

osQ fy, ykHk ` 25]000 gSA o"kZ osQ nkSjku lquhy dh iwath ij fdruk C;kt fn;k 

tk,xk\ 

 (a) ` 18]000 (b) ` 12]000 

 (c) ` 10]000 (d) ` 8]000 

 Sunil, Naresh and Joginder are the partners sharing profits and losses in the 
ratio of 3:2:1 with capitals of ` 2,00,000, ` 2,00,000 and ` 1,00,000 
respectively. Partnership Deed provides for interest on Capital @ 10% p.a. 
and profit for the year is ` 25,000. How much interest will be provided on 
Sunil’s Capital during the year?  

 (a)  ` 18,000 (b)  ` 12,000  
 (c)  ` 10,000 (d)  ` 8,000  

30- 1 viSzy] 2021 dks] VkjxsV fyfeVsM dk xBu fd;k x;k vkSj oaQiuh us izfooj.k 

i=k tkjh djrs gq, ` 10 osQ 40]000 lerk va'kksa osQ fy, vkosnu vkeaf=kr fd,] 

tks fuEukuqlkj ns; gSa% 

 vkosnu ij  %  ` 4 

 vkoaVu ij  %  ` 5 

 igyh vkSj vafre ekax ij  %  ` 1 

 39]000 va'kksa osQ fy, vkosnu izkIr gq, vkSj oaQiuh us lHkh vkosndksa dks va'k 

vkoafVr fd,A tc vafre ekax dh xbZ] rks 3]000 va'kksa osQ ,d va'k/kjd us ekax 

jkf'k dk Hkqxrku ugha fd;kA 

 VkjxsV fyfeVsM osQ rqyu i=k esa ^^vfHknÙk iwath** 'kh"kZd osQ rgr fdruh jkf'k 

fn[kkbZ tk,xh\ 

 (a) ` 3]77]000 (b) ` 3]87]000 

 (c) ` 3]97]000 (d) ` 4]00]000 
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 On 1st April,2021, Target Ltd was formed and company issued prospectus 
inviting applications for 40,000 equity shares of 10 each payable as follows:  

 On Application  : ` 4 
 On Allotment  : ` 5 
 On First and Final Call :  ` 1  
 Application for 39,000 shares were received and company allotted shares to 

all the applicants. When final call was made, a shareholder of 3,000 shares 
did not pay the call money.  

 What amount will be shown under the Heading “Subscribed Capital” in the 
Balance Sheet of Target Ltd. 

 (a) ` 3,77,000 (b) ` 3,87,000  
 (c)  ` 3,97,000  (d)  ` 4,00,000  

31- VªsaMh fyfeVsM us vkWDlhykbV fyfeVsM dk O;olk; laHkkyk vkSj blosQ fy, bl 

izdkj Hkqxrku fd;k 

 (i) ` 100 osQ 2]000] 10» vf/ekuh va'k] 10» osQ izhfe;e ijA 

 (ii) ` 1]00]000 osQ lerk va'k dks leewY; ij vkSj 

 (iii) ` 1]00]000 dk psdA 

 vkWDlhykbV fyfeVsM dks ns; oqQy lger ozQ; izfriQy D;k Fkk\ 

 (a) ` 3]80]000 (b) ` 4]00]000 

 (c) ` 4]20]000 (d) ` 4]40]000 

 Trendy Ltd took over business of Oxylight Ltd and paid for it by  
 (i)  Issue of 2,000 10%Preference Shares of ` 100 each at a premium of 

10%  
 (ii)  Equity Shares of ` 1,00,000 at a par and  
 (iii)  a cheque of ` 1,00,000. 
 What was the total agreed purchase consideration payable to Oxylight Ltd.  
 (a)  ` 3,80,000.  (b)  ` 4,00,000.  
 (c)  ` 4,20,000.  (d) ` 4,40,000.  
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32- psru vkSj vfer 3%2 osQ vuqikr esa lk>snkj gSaA mudh LFkk;h iwath ozQe'k% ` 

2]00]000 vkSj ` 3]00]000 FkhA o"kZ osQ fy, [kkrksa osQ can gksus osQ ckn ;g ns[kk 

x;k fd o"kZ osQ nkSjku vfer dks osru xyr rjhosQ ls ` 50]000 fn;k x;k Fkk 

D;ksafd blosQ ckjs esa dksbZ le>kSrk ugha FkkA ;fn lk>snkj mlh osQ fy, lek;kstu 

izfof"V ikfjr djus dk fu.kZ; ysrs gSa] rks osru osQ [kkrs ij fdruh jkf'k dk izHkko 

iM+sxk\ 

 (a) psru osQ pkyw [kkrs esa ` 30]000 oszQfMV fd, tk,axsA 

 (b) psru osQ iwath [kkrs esa ` 30]000 oszQfMV fd, tk,axsA 

 (c) psru dk pkyw [kkrs esa ` 30]000 ls MsfcV fd;k tk,xkA 

 (d) psru osQ iwath [kkrs esa ` 30]000 oszQfMV fd, tk,axsA 

 Chetan and Amit are partners in the ratio of 3:2. Their fixed Capital were 
` 2,00,000 and ` 3,00,000 respectively. After the closing of accounts for the 
year it was observed that the Salary to Amit was given wrongly ` 50,000 
during the year as there was not any agreement regarding it. By what amount 
will Chetan’s account be affected if partners decide to pass an adjustment 
entry for the same?  

 (a)  Chetan’s Current A/c will be Credited by ` 30,000.  
 (b)  Chetan’s Capital A/c will be Credited by ` 30,000.  
 (c)  Chetan’s Current A/c will be Debited by ` 30,000.  
 (d)  Chetan’s Capital A/c will be credited by ` 30,000.  

33- rkjk fyfeVsM us ` 10 çR;sd osQ 500 va'kksa dk] ftl ij ` 8 dh ekax dh] gj.k 

dj fy;k] ftl ij tkWu us ` 4 dh vkosnu jkf'k vkSj ` 3 izfr va'k dh vkoaVu 

jkf'k dk Hkqxrku fd;k FkkA buesa ls] fd'kksj dks ` 8 izfr va'k osQ fglkc ls 300 

va'kksa dks] iw.kZ iznr osQ :i esa] fiQj ls tkjh fd;k x;k FkkA iwath vkjf{kr [kkrs esa 

fdruh jkf'k LFkkukarfjr dh xbZ gksxh\ 

 (a) ` 500 (b) ` 1]000 

 (c) ` 1]500 (d) ` 2]100 
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 Tara Ltd. forfeited 500 shares of ` 10 each, ` 8 called up, on which John had 
paid application money ` 4 and allotment money of ` 3 per share. Out of 
these, 300 shares were reissued to Kishor as fully paid up for ` 8 per share. 
What is the amount that has been transferred to Capital Reserve Account?  

 (a)  ` 500  (b)  ` 1,000  
 (c) ` 1,500  (d) ` 2,100  

34- gSIihvkWy fyfeVsM us ` 10 çR;sd osQ 1]00]000 lerk va'kksa dh iwath tkjh dh gSA 

vc rd] ` 8 va'k dh ekax dh xbZ gS vkSj 4]000 va'kksa ij ` 2 izfr va'k vkSj 

6]000 va'k j[kus okys ,d vU; /kjd ls ` 3 izfr va'k dh ekax dks NksM+dj 

iwjh jkf'k izkIr gqbZ gSA oaQiuh dh rqyu i=k esa ^vfHknÙk ysfdu iw.kZ iznÙk ugha 

iwath* osQ :i esa iznf'kZr gksus okyh jkf'k D;k gksxh\ 

 (a) ` 7]70]000 (b) ` 7]74]000 

 (c) ` 8]04]000 (d) ` 9]74]000 

 Happyall Ltd has Issued Capital of 1,00,000 Equity shares of ` 10 each. Till 
Date, ` 8 per share have been called up and the entire amount received 
except calls of ` 2 per share on 4,000 shares and ` 3 per share from another 
holder who held 6,000 shares. What will be amount appearing as 
‘Subscribed but not fully paid capital’ in the balance sheet of the company?  

 (a)  ` 8,70,000 (b)  ` 7,74000 
 (c) ` 8,04,000 (d) ` 9,74,000 

35- M  vkSj N 5:3 osQ vuqikr esa lk>snkj gSaA P dks ,d lk>snkj osQ :i esa izos'k 
fn;k tkrk gS vkSj og M osQ fglls dk 1@5 Hkkx ysrk gSaA N vius fgLls esa ls P 
dks 1@8 nsrk gSA u;k ykHk caVokjk vuqikr D;k gS\ 

 (a) 2:1:1 (b) 2:2:1 
 (c) 4:2:1 (d) 4:1:1 
 M and N are partners in the ratio of 5:3. P is admitted as a partner and he 

takes 1/5th of M’s share. N gives 1/8 from his share to P. What is the New 
Profit Sharing Ratio?  

 (a) 2:1:1 (b) 2:2:1 
 (c) 4:2:1 (d) 4:1:1 
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36- uhps nks dFku fn, x, gSa] ,d dks vfHkdFku (A) vkSj nwljs dks dkj.k (R) osQ 
:i esa yscy fd;k x;k gS% 

 vfHkdFku (A) % lHkh gj.k va'kksa dks fiQj ls tkjh djus osQ ckn] gj.k va'kksa osQ 
[kkrs esa cpk gqvk 'ks"k] lkekU; lap; [kkrs esa LFkkukarfjr dj fn;k tkrk gSA 

 dkj.k (R) % gj.k fd, x, va'kksa osQ iqufuZxZe ij ykHk] jktLo izÑfr dk gksrk 
gS] blfy, bls lkekU; lap; [kkrs esa LFkkukarfjr dj fn;k tkrk gSA 

 mijksDr nks dFkuksa osQ lanHkZ esa] fuEufyf[kr esa ls dkSu lk ugha gS\ 

 (a) nksuksa (A) vkSj (R) lgh gSa] ysfdu (R) (A) dh lgh O;k[;k ugha gSA 

 (b) nksuksa (A) vkSj (R) lgh gSa vkSj (R) (A) dh lgh O;k[;k gSA 

 (c) nksuksa (A) vkSj (R) xyr gSaA 

 (d) (A) lgh gS] ysfdu (R) xyr gSA 

 Given below are two statements, one labelled as Assertion (A) and the other 
labelled as Reason (R): 

 Assertion (A) : After reissue of all the forfeited shares, balance left in 
Forfeited Shares Account is transferred to General Reserve Account.  

 Reason (R) : Gain on reissue of forfeited shares is of revenue nature that is 
why it is transferred to General Reserve A/c. 

 In the context of the above statements, which one of the following is 
correct?  

 (a) Both (A) and (R) are true, but (R) is not the correct explanation of (A) 

 (b)  Both (A) and (R) are true and (R) is a correct explanation of (A). 

 (c)  Both (A) and (R) are false.  

 (d)  (A) is true, but (R) is false.  
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Hkkx&I 

[kaM&x 

Part I 
Section-C 

funsZ'k% 

iz'u 37 ls 41 esa ls fdUgha 4 iz'uksa dk mÙkj nsaA 

Instructions:  
From question number 37 to 41, attempt any 4 questions.  

iz'u la[;k 37 vkSj 38 uhps nh xbZ dkYifud fLFkfr ij vk/kfjr gSaA 

 fgekuh fyfeVsM cPpksa osQ f[kykSuksa osQ fuekZ.k esa yxh gqbZ gSA oaQiuh us ` 

50]00]000 osQ vfrfjDr fuos'k }kjk fons'kh cktkj esa foLrkj djus dk fu.kZ; fy;k 

gSA funs'kdksa us fu.kZ; fy;k gS fd bl vko';drk dk 20» nh?kZdkfyd ½.k vkSj 

'ks"k va'ktkjh djosQ foÙkiksf"kr fd;k tk,xkA 

 daiuh osQ ik"kZn lhekfu;e osQ vuqlkj] lerk va'kks dk vafdr ewY; ` 100 çR;sd 

gSA daiuh dh [;kfr dks è;ku esa j•rs gq, ;s va'k 25 iQhlnh osQ vf/ewY; ij 

tkjh fd, tk,axsA funs'kdksa us okafNr jkf'k (vf/ewY; lfgr) ,d=k djus osQ fy, 

i;kZIr va'k tkjh djus dk fu.kZ; fy;kA 

 turk osQ fy, çfooj.k i=k tkjh fd;k x;k Fkk] vkSj bl fuxZeu dks 20]000 

'ks;jksa }kjk vf/ vfHknku fd;k x;k Fkk] ftUgsa •sn ds i=k tkjh fd, x, FksA 

vkosnu ij gh lkjh jkf'k çkIr gks xbZA 

 uhps fn, x, ç'uksa ds mÙkj bl ckr ij fopkj djrs gq, nsa fd vkosnu ij iwjh 

jkf'k ns; FkhA 

 Himani Limited is engaged in manufacture of Children toys. The company 
has decided to expand in foreign market by additional investment of 
`50,00,000. Directors have decided that 20% of this requirement would be 
financed by raising long term debts and balance by. issue of Equity shares.  
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 As per memorandum of association of the company, the face value of Equity 
shares is ` 100 each Considering the goodwill of the company, these shares 
would be issued it a premium of 25%. Directors decided to issue sufficient 
shares to collect the desired amount (including premium).  

 The prospectus was issued to public, and the issue was oversubscribed by 
20,000 shares which were issued letters of regret. All the amount was 
received on Application itself.  

 Answer the below mentioned questions considering that the entire amount 
was payable on application.  

 What is the total amount collected on application?  

37-  vkosnu ij ,d=k dh xbZ dqy jkf'k D;k gS\ 

 (a) ` 75]00]000 (b) ` 65]00]000 

 (c) ` 55]00]000 (d) mijksÙkQ esa ls dksbZ ugha 

 What is the total amount collected on application?  
 (a)  ` 75,00,000  (b)  ` 65,00,000  
 (c)  ` 55,00,000  (d)  None of the above  

38-  fgekuh fyfeVsM }kjk fdrus lerk va'kks dks tkjh djus dh is'kd'k dh xbZ Fkh\ 

 (a) 50]000 'ks;j (b) 40]000 'ks;j 

 (c) 32]000 'ks;j (d) 22]000 'ks;j 

 How many Equity shares were offered for issue by Himani Ltd?  
 (a)  50,000 shares.  (b)  40,000 shares.  
 (c)  32,000 shares.  (d)  22,000 shares.  

iz'u la[;k 39] 40 vkSj 41 uhps nh xbZ dkYifud fLFkfr ij vk/kfjr gSaA 

 1 tqykbZ 2020 dks] fou; vkSj euh"k us fMftVy eksM esa f'k{kdksa osQ vkWuykbu 

V~;wVksfj;y cspus osQ fy, ^^V~;wVlZ** osQ uke ls viuh lk>snkjh iQeZ 'kq: dhA 

fou; vkSj euh"k us ozQe'k% ` 6]00]000@& vkSj ` 3]00]000@& iwath osQ :i esa 

fuos'k djus dk fu.kZ; fy;kA 31 ekpZ 2021 dks iqLrosaQ can dj nh xbZ] ftl 

rkjh• dks iQeZ }kjk fuEufyf•r tkudkjh çnku dh xbZ% 
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fooj.k jkf'k (`) 

'kq¼ ykHk 5]00]000 

fou; dks osru ('kqYd osQ :i esa) 20]000 izfr ekg 

iwath ij C;kt 10» izfr o"kZ 

euh"k dks deh'ku 'kq¼ fcozQh dk 10» tks o"kZ osQ nkSjku 

2]00]000 FkhA 

 pwafd os ,d&nwljs osQ vPNs nksLr Fks] blfy, mijksDr osQ vykok] muosQ chp dksbZ 

Li"V lgefr ugha FkhA 

Question no.’s 39, 40 and 41 are based on the hypothetical situation given below. 
 On 1st July 2020, Viney and Manish started their Partnership Firm in the 

name of Tutors for selling online tutorials of teachers in digital mode. Viney 
and Manish decided to invest ` 6,00,000/- and ` 300,000/- respectively as 
capital. The books were closed on 31st March 2021, on which date the 
following information was provided by the firm:  

Particualrs Amount (`) 
Net Profit 5,00,000 
Salary to Viney (As a Charge) 20,000 per month 
Interest on Capital 10% p.a. 
Commission to Manish 10% of net sales which was 2,00,000 

during the year. 
 Since they were good friends of each other, they were not having any 

explicit agreement in place except the above.  
39-  ykHk ,oa gkfu fofu;ksx [kkrs dks gLrkarfjr fd, tkus okys ykHk dh jkf'k dh 

x.kuk djsa & 

 (a) ykHk ` 3]20]000 (b) ykHk ` 2]20]000 

 (c) ykHk ` 1]00]000 (d) ykHk ` 40]000 

 Calculate the amount of profits to be transferred to Profit and Loss 
Appropriation Account. -  

 (a)  Profit ` 3,20,000  (b)  Profit ` 2,20,000 
 (c)  Profit ` 1,00,000 (d)  Profit ` 40,000  
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40-  euh"k osQ iwath •krs esa fdruk ykHk varfjr fd;k tk,xk% 

 (a) ` 2]15]250 (b) ` 1]50]000 

 (c) ` 1]16]250 (d) ` 1]05]000 

 How much profit will be transferred to Manish’s Capital A/c: 

 (a) ` 2]15]250 (b) ` 1]50]000 

 (c) ` 1]16]250 (d) ` 1]05]000 

41- 01 vDVwcj 2020 dks] ;fn fou; us iQeZ dks ` 1]60]000 dk ½.k fn;kA orZeku 

ys•k vof/ osQ fy, jfo dks ½.k ij feyus okys C;kt dh jkf'k dh x.kuk djsa& 

 (a) ` 9]200 (b) ` 8]400 

 (c) ` 6]600 (d) ` 4]800 

 On 01st December 2020, if Ravi advanced a loan of ` 30,000 to the firm. 
Calculate the amount of interest on loan that Ravi will receive for the current 
accounting period- 

 (a) ` 9]200 (b) ` 8]400 

 (c) ` 6]600 (d) ` 4]800 

Hkkx&II 

[kaM&d 

Part II 
Section-A 

funsZ'k% 

iz'u 42 ls 48 esa ls fdUgha 5 iz'uksa dk mÙkj nsaA 

Instructions:  
From question number 42 to 48, attempt any 5 questions.  

42- uhps nks dFku fn, x, gSa] ,d dks vfHkdFku (A) vkSj nwljs dks dkj.k (R) osQ 
:i esa vafdr fd;k x;k gS% 
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 vfHkdFku (A) % pkyw vuqikr dk mís'; ;g bafxr djuk gS fd D;k mn~xe 

vius nh?kZdkfyd foÙkh; nkf;Roksa dks] tc os ns; gksaxs] iwjk djus esa l{ke gksxkA 

 dkj.k (R) % ,slk blfy, gS D;ksafd pkyw vuqikr] pkyw laifÙk vkSj pkyw nsunkfj;ksa 

osQ chp laca/ LFkkfir djrk gSA 

 mijksDr nks dFkuksa osQ lanHkZ eas] fuEufyf[kr esa ls dkSu&lk ugha gS\ 

 (a) nksuksa (A) vkSj (R) lgh gSa] ysfdu (R), (A) dh lgh O;k[;k ugha gSA 

 (b) nksuksa (A) vkSj (R) lgh gSa vkSj (R) (A) dh lgh O;k[;k gSA 

 (c) nksuksa (A) vkSj (R) xyr gSaA 

 (d) (A) xyr gS] ysfdu (R) lgh gSA 

 Given below are two statements, one labelled as Assertion (A) and the other 
labelled as Reason (R):  

 Assertion (A): Current Ratio aims to indicate whether the enterprise will be 
able to meet its Long term financial obligations as and when they become 
due.  

 Reason (R): It is because Current ratio establishes the relationship between 
current assets and current liabilities. 

 In the context of the above two statements, which of the following is 
correct?  

 (a) Both (A) and (R) are true, but (R) is not the correct explanation of 
(A). 

 (b)  Both (A) and (R) are true and (R) is a correct explanation of (A).  
 (c)  Both (A) and (R) are false.  
 (d)  (A) is false, but (R) is true.  

43- fuEufyf[kr esa ls dkSu&ls vYidkyhu 'kks/u {kerk vuqikr gSa\ 

 (i) ½.k va'k vuqikr (ii) pkyw vuqikr 

 (ii) oqQy laifÙk ij ½.k vuqikr (iv) Rofjr vuqikr 

 (v) ldy ykHk vuqikr 
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 (a) (i) vkSj (iii) (b) (ii) vkSj (iv) 

 (c) (iii) vkSj (iv) (d) (iii) vkSj (v) 

 Which of the following are Short term Solvency ratios?  
 (i)  Debt Equity Ratio  (ii)  Current Ratio  
 (iii)  Total Assets to Debt Ratio  (iv)  Quick Ratio 
 (v)  Gross Profit Ratio  
 (a)  (i) and (iii)  (b)  (ii) and (iv)  
 (c)  (iii) and (iv)  (d)  (iii) and (v) 

44- fuEufyf[kr esa ls dkSu oqQy ½.k vkSj va'k/kjd fuf/ dk ;ksx gS% 

 (a) xSj pkyw laifÙk (b) oqQy ½.k 

 (c) fofu;ksftr iwath (d) oqQy ns;rk,a 

 Which of the following is the aggregate of Total Debts and Shareholders’s 
Funds  

 (a)  Non Current Assets (b)  Total Debts 
 (c)  Capital Employed (d)  Total Liabilities 

45- fuEufyf[kr esa ls dkSu lk lgh gS\ 

 (i) vkn'kZ LohÑr Rofjr vuqikr 2%1 gSA 

 (ii) ,d mPp LVkWd VuZvksoj vuqikr dk vFkZ gS LVkWd esa fuos'k dk v{ke 

mi;ksx vkSj LVkWd esa vf/d fuos'kA 

 (iii) ifjpkyu ykHk ¾ izpkyu ls jktLo & ifjpkyu ykxrA 

 (a) (i) vkSj (iii) (b) (ii) vkSj (iii) 

 (c) osQoy (iii) (d) (i) vkSj (ii) 

 Which one of the following is correct?  
 (i)  Ideal accepted Quick Ratio is 2:1.  
 (ii)  A high inventory turnover ratio means inefficient use of investment in 

inventory and over investment in stocks. 
 (iii)  Operating Profit=Revenue from Operations - Operating Cost. 
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 (a) (i) and (iii) (b) (ii) and (iii) 
 (c) Only (iii) (d) (i) and (ii) 

46- fdl dFku] esa izR;sd laifÙk dks oqQy laifÙk osQ izfr'kr osQ :i esa O;Dr fd;k 

tkrk gS vkSj izR;sd ns;rk dks oqQy va'k/kjd fuf/ vkSj nsunkfj;ksa osQ izfr'kr osQ 

:i esa O;Dr fd;k tkrk gS\ 

 (a) leku vkdkj vk; fooj.k (b) rqyukRed rqyu i=k 

 (c) ykHk vkSj gkfu dk fooj.k  (d) leku vkdkj rqyu i=k 

 In Which Statement, each asset is expressed as percentage to total asset and 
each liability is expressed as percentage of total of equity and liabilities? 

 (a)  Common size income Statements. 
  (b) Comparative Balance Sheet.  
 (c)  Statement of Profit and Loss. 
  (d)  Common Size Balance Sheet.  

47- oaQiuh vf/fu;e 2013 dh vuqlwph III esa ifjHkk"kk osQ vuqlkj dkWye I esa fn, 
x, enksa dks dkWye II esa fn, x, 'kh"kZdksa@mi'kh"kZdksa (rqyu i=k) ls lqesfyr djsaA 

 dkWye I  dkWye II 

(a) VªsMekoZQ (i) LdU/ 

(b) izfrHkwfr izhfe;e lap; (ii) ewrZ vpy laifÙk;k¡ 

(c) cSad vksojMªkÝV (iii) vewrZ vpy laifÙk;k¡ 

(d) eksgu okgu (iv) vYidkfyd m/kj 

(e) LVksj vkSj Lis;j ikVZ~l (v) lap; vkSj vf/'ks"k 

 (a) (a)-(iii), (b)-(i), (c)-(v), (d)-(ii) vkSj (e)-(iv) 

 (b) (a)-(iii), (b)-(v), (c)-(iv), (d)-(ii) vkSj (e)-(i) 

 (c) (a)-(i), (b)-(iii), (c)-(v), (d)-(iv) vkSj (e)-(ii) 

 (d) (a)-(ii), (b)-(i), (c)-(iv), (d)-(iii) vkSj (e)-(v) 
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 Match the items given in Column I with the headings/subheadings (Balance 
sheet) as defined in Schedule III of Companies Act 2013 in Column II. 

 Column I  Column II 
(a) Trademark (i) Inventories 
(b) Securities Premium Reserve (ii) Tangible Fixed Assets 
(c) Bank Overdraft (iii) Intangible Fixed Assets 
(d) Motor Vehicles (iv) Short Term Borrowings 
(e) Stores and Spare Parts (v) Reserve and Surplus 

 (a) (a)-(iii), (b)-(i), (c)-(v), (d)-(ii) and (e)-(iv) 
 (b) (a)-(iii), (b)-(v), (c)-(iv), (d)-(ii) and (e)-(i) 
 (c) (a)-(i), (b)-(iii), (c)-(v), (d)-(iv) and (e)-(ii) 
 (d) (a)-(ii), (b)-(i), (c)-(iv), (d)-(iii) and (e)-(v) 

48- dkSu lk vuqikr (nh?kZdkfyd) 'kks/u {kerk vuqikr dk Hkkx ugha gS\ 

 (a) pkyw vuqikr (b) ½.k va'k vuqikr 

 (c) LokfeRo vuqikr (d) oqQy laifÙk ij ½.k vuqikr 

 Which ratio is not a part of (Long term) Solvency Ratio? 
 (a)  Current ratio.  (b)  Debt to Equity Ratio 
 (c)  Proprietary ratio.  (d)  Total assets on Debt ratio. 

Hkkx&II 

[kaM&[k 

Part II 
Section-B 

funsZ'k% 

iz'u 49 ls 55 esa ls fdUgha 6 iz'uksa dk mÙkj nsaA 

Instructions:  
From question number 49 to 55, attempt any 6 questions.  

49- rjy vuqikr D;k gksxk ;fn pkyw laifÙk ¾ ` 72]500_ LdU/ ¾ ` 12]500_ 

iwoZnÙk [kpZ ¾ ` 15]000_ Hkou ¾ ` 50]000_ dk;Z'khy iwath ¾ ` 50]000 
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 (a) 1:1 (b) 2:1 

 (c) 3:1 (d) 'kwU; 

 What will be the Liquid Ratio if Current Assets = ` 72,500; Inventories = 
` 12,500; Prepaid Expenses = ` 15,000; Building = ` 50,000; Working 
Capital =  ` 50,000. 

 (a)  1:1.  (b) 2:1.  
 (c)  3:1.  (d) Nil.  

50- ;fn lapkyu ls uxn vkxe] laapkyu ls oqQy vkxe dk 1@4 gS vkSj lapkyu ls 

vkxe dh ykxr ¾ ` 2]00]000 gS vkSj lapkyu ls vkxe dh ykxr ij ldy 

ykHk 25» gSA ldy ykHk vuqikr gS% 

 (a)  15%  (b)  20% 
 (c)  25% (d)  30% 
 If Cash Revenue from Operations is 1/4th of Total Revenue from Operation 

and Cost of Revenue from Operation is ` 2,00,000 and Gross Profit is 25% 
on Cost of Revenue from Operations. Gross Profit Ratio is:  

 (a)  15%  (b) 20%  
 (c)  25%  (d) 30%  

51- fuEufyf[kr dFkuksa esa ls dkSu lk lgh gSa\ 

 (i) rqyukRed foÙkh; fooj.k] izo`fÙk dk lwpd gS vkSj iwokZuqeku yxkus esa enn 

djrk gSA 

 (ii) le:i foÙkh; fooj.k esa] 100» dks vk/kj osQ :i eas fy;k tkrk gS vkSj 

vU; lHkh lacaf/r jkf'k;ksa dks vk/kj osQ izfr'kr osQ :i esa O;Dr fd;k 

tkrk gSA 

 (iii) rqyukRed foÙkh; fooj.k osQ ekè;e ls fo'ys"k.k dks {kSfrt fo'ys"k.k osQ 

:i esa Hkh tkuk tkrk gSA 

 fuEufyf[kr fodYiksa esa ls pqusa% 

 (a) nksuksa (i) vkSj (iii) (b) nksuksa (ii) vkSj (iii) 

 (c) nksuksa (i) vkSj (ii) (d) lHkh lp gSa 
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 Which of the following statements are false?  
 (i) Comparative Financial Statement is an indicator of trend and helps in 

forecasting. 
 (ii) In Common Size Financial Statement, 100% is taken as base and all 

other related amounts are expressed as a percentage of base. 
 (iii) Analysis through Comparative Financial Statement is also known as 

Horizontal Analysis. 
 Choose from the following Options:  
 (a) Both (i) and (iii)  (b) Both (ii) and (iii)  
 (c) Both (i) and (ii)  (d) All are true 

52- uhps nks dFku fn, x, gSa] ,d dks vfHkdFku (A) vkSj nwljs dks dkj.k (R) osQ 
:i esa vafdr fd;k x;k gS% 

 vfHkdFku (A) % de dk;Z'khy iwath vuqikr dk;Z'khy iwath osQ oqQ'ky mi;ksx 

dks n'kkZrk gSA 

 dkj.k (R) % dk;Z'khy iwath vuqikr] dk;Z'khy iwath vkSj lapkyu ls vkxe osQ 

chp laca/ LFkkfir djrk gSA ;g n'kkZrk gS fd vkxe mRiUu djus osQ fy, bldk 

fdruh oqQ'kyrk ls mi;ksx fd;k tkrk gSA 

 mijksDr nks dFkuksa osQ lanHkZ esa] fuEufyf[kr esa ls dkSu lk lgh gS\ 

 (a) nksuksa (A) vkSj (R) lgh gSa vkSj (R), (A) dk lgh dkj.k gSA 

 (b) nksuksa (A) vkSj (R) lgh gSa ysfdu (R), (A) dh lgh dkj.k ugha gSA 

 (c) osQoy (R) lgh gSA 

 (d) nksuksa (A) vkSj (R) xyr gSaA 

 Given below are two statements, one labelled as Assertion (A) and the other 
labelled as Reason (R): 

 Assertion (A) : A low Working Capital Ratio shows efficient use of 
working capital. 

 Reason (R) : Working Capital ratio establishes the relationship between 
Working capital and Revenue from Operations. It shows how efficiently it is 
used to generate revenue. 
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 In the context of the above two statements, which of the following is 
correct?  

 (a)  Both (A) and (R) are correct and (R) is the correct reason of (A).  
 (b)  Both (A) and (R) are correct but (R) is not the correct reason of (A).  
 (c)  Only (R) is correct.  
 (d) Both (A) and (R) are wrong.  
53- uhps nks dFku fn, x, gSa] ,d dks vfHkdFku (A) vkSj nwljs dks dkj.k (R) osQ 

:i esa vafdr fd;k x;k gS% 

 vfHkdFku (A) % ,d fuEu ½.k lerk vuqikr ,d vuqowQy fLFkfr dks bafxr 

djrk gSA 

 dkj.k (R) % ,d fuEu ½.k lerk vuqikr mPp lqj{kk doj dks bafxr djrk gS 

vkSj ;g n'kkZrk gS fd m|e ckgjh bfDoVh dh rqyuk esa va'k/kjdksa osQ /u ij 

vf/d fuHkZj gSA 

 mijksDr nks dFkuksa osQ lanHkZ esa] fuEufyf[kr esa ls dkSu lk lgh gS\ 

 (a) nksuksa (A) vkSj (R) lgh gSa vkSj (R), (A) dh lgh O;k[;k djrk gSA 

 (b) nksuksa (A) vkSj (R) lgh gSa ysfdu (R), (A) dh lgh O;k[;k ugha djrk gSA 

 (c) nksuksa (A) vkSj (R) xyr gSaA 

 (d) (A) lgh gS ysfdu (R) xyr gSaA 

 Given below are two statements, one labelled as Assertion (A) and the other 
labelled as Reason (R): 

 Assertion (A) : A low Debt Equity ratio indicates a favourable position. 
 Reason (R) : A low Debt Equity ratio indicates high safety cover and it 

shows that enterprise is depending more on shareholders funds than external 
equities. 

 In the context of the above two statements, which of the following is 
correct?  

 (a)  (A) and (R) both are correct and (R) correctly explains (A). 
 (b)  Both (A) and (R) are correct but (R) does not explain (A). 
 (c)  Both (A) and (R) are incorrect. 
 (d) (A) is correct but (R) is incorrect. 
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54- ,i+Qksu fyfeVsM dk pkyw vuqikr 2-5%1 gSA ys[kkdkj bls 2%1 ij cuk, j[kuk 

pkgrk gSA fuEufyf[kr fodYi miyC/ gSa% 

 (i) ;g fofo/ ysunkjksa dks Hkqxrku dj ldrk gSA 

 (ii) og m/kj ij eky [kjhn ldrk gSA 

 (iii) og cSad ls vYidkfyd ½.k ys ldrk gSA 

 lgh fodYi pqusaA 

 (a) osQoy (i) lgh gSA (b) osQoy (ii) lgh gSA 

 (c) osQoy (iii) lgh gSaA (d) osQoy (ii)  vkSj (iii) lgh gSA 

 Quick ratio of Affon Ltd. is 2.5:1. Accountant wants to maintain it at 2:1. 
Following options are available.  

 (i)  He can pay off sundry creditors.  
 (ii)  He can purchase goods on credit  
 (iii)  He can take short term loan from bank  
 Choose the correct option.  
 (a)  Only (i) is correct  (b)  Only (ii) is correct  
 (c)  Only (iii) are correct  (d)  Only (ii) and (iii) are correct  

55- ,d oaQiuh dk lapkyu pozQ 14 eghus dk gksrk gSA blesa ` 3]00]000 dh O;kikj 

ns; jkf'k gS] ftlesa ls ` 1]00]000 dh ifjiDork vof/ 13 eghus gSA ;g 

tkudkjh rqyu i=k esa oSQls izLrqr dh tk,xh\ 

 (a) ` 1]00]000 pkyw nsunkfj;ksa osQ :i esa vkSj ` 2]00]000 vkSj xSj&pkyw 

nsunkfj;ksa osQ :i esaA 

 (b) ` 2]00]000 pkyw nsunkfj;ksa osQ :i esa vkSj ` 2]00]000 vkSj xSj&pkyw 

nsunkfj;ksa osQ :i esaA 

 (c) ` 3]00]000 xSj&pkyw nsunkfj;ksa osQ :i esaA 

 (d) ` 3]00]000 pkyw nsunkfj;ksa osQ :i esaA 
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 A company has an operating cycle of 14 months. It has trade payables 
amounting to ` 3,00,000 out of which ` 3,00,000 have a maturity period of 
13 months. How would this information be presented in the balance sheet?  

 (a)  ` 1,00,000 as current liabilities and ` 2,00,000 as non-current 
liabilities.  

 (b) ` 2,00,000 as current liabilities and ` 1,00,000 as non-current 
liabilities.  

 (c) ` 3,00,000 as non-current liabilities. 
 (d) ` 3,00,000 as Current liabilities.  


